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EFETHETRAOR
FRERERAOGIEAZEHZED) {ﬁ\*u3£ﬁ1 OH 1H EE.E
BT 4 HH 5 £ it
B] i3 3m] ;28 AT 299 359 395 754
EARI1TH 1,039 1,164 1,270 2,434
mAET2TH 1,203 1,039 1,395 2,434
A R ET 2,313 2,347 2,591 4,938
BERT1TH 562 566 609 1,175
B ERT2TH 408 416 450 866
B ERI3TH 312 359 326 685
BEBRT4TH 534 489 534 1,023
B ERSTH 823 890 904 1,794
I ER6TH 370 397 421 818
HiF = HT 547 589 640 1,229
45 KHT 475 540 572 1,112
HHT 1,012 1,110 1,231 2,341
BEHT 53 54 58 112
A K BT 629 716 739 1,455
7 HT 429 434 453 887
RICET 462 494 527 1,021
FORHET 200 193 227 420
RFHT 209 211 240 451
KHET 365 341 379 720
KET1TH 240 246 289 535
XKET3TH 290 342 329 671
KET4TH 875 810 1,005 1,815
fit] LLI BT 2,440 2,799 2,901 5,700
JE LT 975 1,102 1,208 2,310
EHERT2TH 304 442 436 878
EHERISTH 430 528 537 1,065
EHERT4TH 391 457 489 946
EHERSTH 337 392 463 855
EHERT6TH 215 291 272 563
EHERT7TH 169 254 262 516
=Y:i 332 330 384 714
8 [F T 1,546 1,399 1,656 3,055
=i ET 515 554 634 1,188
2l 3t BT 481 582 561 1,143
N =15 101 113 122 235
+HEFRT A 644 651 722 1,373
L EFHTER 853 753 859 1,612
L HAET 1,989 2,182 2,256 4,438
LFH¥ABT1TH 72 121 117 238
LH¥\ET2TH 160 159 177 336




HEZ HH 5 £ i
LFEI3TH 151 148 177 325
L¥AET4 T B 168 183 208 391
LHABTS T B 215 269 293 562
I == HT 204 212 234 446
M=rET1TH 555 533 542 1,075
JNsFET2T H 543 525 568 1,093
JO=fET3TH 419 433 413 846
M=rET4T H 1,100 1,102 1,119 2,221
I S5k T 581 599 654 1,253
I=F5di) 224 210 253 463
At B BT 29 37 38 75
Jt ET 407 357 345 702
fHZaE T 823 947 996 1,943
FHRHET 79 83 95 178
1 2 FF T 322 368 393 761
BEFE1TH 93 119 128 247
BEFE2TH 281 324 335 659
T EHT 131 143 141 284
/N BB T 3,093 3,121 3,310 6,431
1R T 263 292 309 601
YEZF HT 755 745 800 1,545
EXBI1TH 280 257 283 540
=/ LLIHT 218 161 127 288
Hh ek HT 24 25 4 29
T A EHET 11 16 12 28
THHEE1TH 732 674 721 1,395
THHEE2TH 527 565 550 1,115
THHEESTH 832 852 971 1,823
TEHE1TH 182 179 178 357
TEHRI2TH 799 743 861 1,604
TEHRISTH 165 169 187 356
TEHRI4ATH 93 102 111 213
TEHRISTH 220 239 245 484
T HAET 577 608 645 1,253
THET1TH 363 351 373 724
THET2 T H 455 428 484 912
TH¥BISTH 205 202 231 433
THABTATH 152 152 180 332
TH¥BISTH 149 173 190 363
HTAEHET 18 16 8 24
ikl 188 197 188 385
#8)11 BT 46 47 53 100
KT HT 299 318 345 663
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HEZ HH 5 £ i

7B KHT 1,675 1,675 1,843 3,518
FSIED 266 317 314 631
XLAT1TH 848 759 912 1,671
X#ILET2TH 314 342 366 708
X#ILET3TH 152 158 169 327
1 [ BT 47 64 76 140
hHET1TH 374 400 410 810
hHET2TH 456 473 521 994
hHBEI3TH 459 527 524 1,051
aiEld:) 249 237 282 519
th 2 JEHT 218 209 230 439
ch T 129 126 161 287
TR AHT 773 875 878 1,753
At FAET 888 888 1,027 1,915
75 K ERET 783 967 996 1,963
75 2 [N HET 1,659 1,825 1,952 3,777
JAHT 796 773 862 1,635
$FHET1TH 525 461 518 979
$FHET2T H 400 396 443 839
¥FHETST B 198 204 229 433
T 165 212 216 428
HET1 T B 385 479 505 984
HET2 T B 351 365 404 769
HET3 T B 358 396 444 840
HET4 T B 127 122 151 273
AN ) 984 1,064 1,117 2,181
J\ EHHT 158 199 197 396
+ A ERT 247 285 316 601
T A HT 1,825 1,872 2,032 3,904
THB1TH 24 20 21 A1
T4HB2TH 1,460 1,370 1,359 2,729
T4HBI3TH 186 168 166 334
T4RBI4TH 373 312 372 684
T4RB5TH 944 665 943 1,608
T4HBI6TH 607 584 647 1,231
THRI7TH 349 374 408 782
T4HBISTH 378 401 418 819
THRBOTH 406 463 515 978
+4RB13TH 314 351 389 740
AR NBHT 1,944 1,692 1,979 3,671
HARRHET 1,373 1,248 1,219 2,467
HARRK/ERET 292 372 381 753
F AR JEHT 167 174 181 355
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HEZ HH 5 = 5
- WNEL] 136 122 140 262
FH AR hHT 197 219 258 477
FHARAKHET 448 473 514 987
& ARl 325 347 383 730
HARE)IIHT 293 272 301 573
=N ] 114 122 137 259
FH AR JTHT 105 98 114 212
EARERHE 666 570 666 1,236
B K BRHET 388 396 403 799
Edsa] 881 890 1,022 1,912
BIERT1TH 772 741 761 1,502
BEFET2 T H 587 586 675 1,261
BEFEISTH 354 417 419 836
AFTET1TH 422 379 424 803
AIFTET2T B 597 609 674 1,283
AIFTET3T B 615 699 762 1,461
A HT 188 206 193 399
B LH 239 309 331 640
NER) 796 774 837 1,611
ERL 750 926 923 1,849
= HHT 1,736 1,920 1,996 3,916
HEXHRET1TH 589 637 682 1,319
HLIRET2TH 520 589 659 1,248
HLAREISTH 295 380 369 749
P fx T 314 358 389 747
mERI1TH 1,165 1,128 1,270 2,398
mERI2TH 831 947 1,053 2,000
FA T 1,356 1,394 1573 2,967
= RITET 539 503 552 1,055
= AHT 340 271 334 605
AR#4HT 7 5 4 9
=) 497 560 513 1,073
SHET1TH 720 640 801 1,441
S HET2TH 404 441 465 906
aHEI3TH 842 727 891 1,618
S HET4TH 755 636 829 1,465
E& T 1 1 0 1
J\BRET1TH 206 260 260 520
J\BRET2T B 216 223 234 457
J\BRET3T H 239 291 298 589
1T HT 298 429 410 839
FHeEIBRT1 T H 167 199 212 411
FHREIBRT2TH 301 434 464 898
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BT 4 HH 5 £ it
FIEIBISTH 108 179 173 352
EOER1TH 61 98 91 189
FEOER2TH 0 0 0 0
FENOERITH 18 16 2 18

Y= 88,598 91,724 99,492 [ 191,216
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